015. King’s Arrow (20 marks):

Consider producing an image of arrow in text mode based on user’s inputs of a positive
integer, N, and an arbitrary symbol. An example of inputs of 3 and * is shown below.
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*

*
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The arrow image must fulfil the following conditions:

(1) The arrow image is bilaterally symmetric, with the top as the arrowhead and bottom
as the arrow shaft.
(2) Arrowhead:
a. The arrowhead is a triangle with N lines of symbols, where the top contains
only one symbol, and the bottom (longest line) contains 2N-1 symbols.
b. In the longest line of the arrowhead, there is neither space on the left of the
first symbol, nor space on the right of the last symbol.
c. For all lines contain more than two symbols, there is no space between any
two symbols.
(3) Arrow shaft
a. The arrow shaft is N lines of symbols, and each line contain only one symbol.
b. The symbols form a vertical line in the middle.
(4) For any line, there is no extra space after the last symbol.

Write a programme to

Input a positive integer, N, where 2 <N <5, and an arbitrary symbol.
Output the text-mode arrow image that fulfils the above conditions.



iR 15. FHEZ & (20 &9):

REFEMPBANEF, N, RS, UXFEIER—DEFOEKR. 6, SR
A2 3 AR ™, WA ERIN TR

*k*k

*khkkx

BEETRI R B IR E X T &1
(1) SINEBREEAXNIRE, HEAFL, HET AT,

(2) g7k
a. FEAE—IMNHFH=AFE. R t—FRE-ITHFS, &7 BIxK
B—17) B 2N-1 NFS,
b. ERKMNHI—17, EAFEFTATE,
. MIEEARMANHULTSNTZH, REHBENTSEREE T,
(3) &THF
a. FFEE NTHHS, 8TRF1T/FS5
b. XEFSHHM—NPEEENLZ.
(4) EEER—f7%, RE—1THSEEAREFEASE.

RE—ERI
WA—MEEH N, B4 2<N<5 NE—MERHTTS.
S BSOS XTERER.



Example ($ilF)

Input (58N) Output ()
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